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Question 1

Which is called the brain of the computer?
Computer-49 brain RICH 0T ?

Question 2

Which is the permanent memory of a computer?
Computer -49 Eﬁ)[ memory < 2

Question 3
Based on the style of printing, printers are of ............... types.
Printing-49 style Wﬁ printer............... SEICE N
Question 4

A Binary digit is called
Binary SRYICH 1 T

Question 5

............. is a place where processing takes place.
............. T(HR 6 F (T processing O |

Question 6

.............. is the most famous type of Operating System in Personal computer.
Personal computer-& AJCH IEEMISEEIOE Operating System QAR

Question 7

Windows explorer ........... -9 PG P |
Question 8

When a computer starts, operating system checks all the ............. and loads their drivers so a user can work properly.

T4 G0 computer start FTI operating system .......... -3 STIGT2 fNTFY FTI 938 O driver-93 load F(I TS JIIZTIFIA HIFOINI G FACS A |
Question 9

Word shows the document information (total pages, words) on the ........... bar.

Word ........... bar-£ document information (total pages, words) (M4 |

Question 10




Changing the width of the lines in a paragraph is known as ............. .
g6 paragraph-d line S&H IO ARION ... 0|

Question 11

Related fields in a database are grouped to form a
Database-4 <& FaF grouping FRTRT ............. -q9 G |

Question 12

The property / properties of a database is / are:
Database-4q property <1 properties 3fe] =eT

Question 13

A database language concerned with the definition of the whole database structure and schemaiis ................. .
............... JfG database language 1 ﬂ“”i“fdatabase structure {38 schema-Ad Mo HHT |

Question 14

How to create a relationship between two tables in database?
Database-4 7fb Table-J (KT 51 fFeII FA1 W 2

Question 15

............... data type allows alphanumeric characters and special symbols.
............... Data type alphanumeric character 4<% special symbol (J allow $(q |

Question 16

Which of the following is not a type of relationship that can be applied in Access database ?

Access database -4 NS SFI (FWG TETSF 77 2

Question 17

Which is not a view to display a table in Access?
Access in table-4 (FIN view displayRdI A8]  «F ?

Question 18

What is a form in MS Access?
MS Access-d form i 2

Question 19

Which of the following is not a function of MS Excel?
RO T FMI0 MS Excel-49 function ¥F 2

Question 20

Which feature of MS Excel helps you to enter the series of data automatically?
MS Excel -4 (FTN (IO GAT series of data (S FTONIP ©II2 (GBI T ?



Question 21

What does the changing in the appearance of the text refer to?

Text-4 appearance-43 HJ TSNS FICH (N FE 2

Question 22

Cross-sectional data are data

Cross-sectional data (PR data

Question 23

The process of collection, organization, and description of data is commonly called:
Data-q process of collection, organization 4<% description (% IEIIGIN:

Question 24

Ordinal data are
Ordinal data *¢7

Question 25

Census is conducted after how many years?

Census is conducted after how many years?

Question 26

A project would normally been undertaken if its NPV (Net Present Value) is:
IfG project ©UN2 (NS I T4 49 NPV (Net Present Value)

Question 27
Benefit-cost analysis should adopt ............ in evaluating benefits and costs of a public project.
GEII public project-AF YN FICO Benefit-cost analysis ............ ARABPE |

Question 28

What is the present value of Rs. 121 expected two years from today at a discount rate of 10% per year ?
JR(] 10% discount-¢ Rs. 121-49 2 IR(IS 9O Ye1J (present value) PO AT ?

Question 29

Which of the following is NOT a necessary component of survey research?
IEEGIRCRGE RIS survey research -9 necessary component w3 ?

Question 30

Smoothing methods generally provide a high level of accuracy for
Smoothing methods ATHIISS high level of accuracy (MY ............. -9 (04 |

Question 31



Drag and Drop action is done by
Drag and Drop JI<p* ----------- RIAAA] I

Question 32

Which of these is not a part of CPU?
GF KT (PG CPUT ¥ 72

Question 33

Operating system manages:

A0S 6N Ao~ B

Question 34

Unix operating system is a

3O WA oW T

Question 35

An example of intermediate language is?
Intermediate OISR 52

Question 36

A grammar for a programming language is a formal description of:

TSN ORI AFAY T GBI AGINND [[TI:

Question 37

Which can be used for quick access to commonly used commands and tools?
SIHETO 20 PG 72 TTGNSEATO T SITHAT Gy (PG I FAT (JCS AR?

Question 38

The ability to combine names and addresses with a standard document is called ------------

A0 SOIONE GHCATHA S VN I3 PP IF(G© S FHOT I T —ommemev

Question 39

Related fields in a database are grouped to form a:

AT GBI TN F© CFa el JF0 T G (Mg FT =:

Question 40

Which of the following enables us to view data from a table based on a specific criterion

fARfAfIowfFTg ey (@WIG JB6 RIS e fofere g0 TR (AT (ToT (MATS SHY I

Question 41

In one-to-many relationship, the table on ‘many’ side is called:
One-to-many TR CFLE 'many' A CRGITEGIEYE



Question 42

Which data type allows alphanumeric characters and special symbols to be entered?

(T (GOI B2 O5%d 3¢ fRITTY fo= e AR[eIR wawfe (q?

Question 43

The key that uniquely identifies each record is called:
ASB (PGP Fogel BF® BT AN key BTF 77 =T

Question 44

Which of the following is not a type of MS Access database object?

SRS (W0 INIST SIS TIOIIT WO NT?

Question 45

Which of the following option creates a Drop Down List of values?

e Regelea Wy (@i T TroN W@ eI (off e 2

Question 46

You can set page border in Excel from

AN JCHA G 2T AT (76 FACS AN

Question 47

What is the intersection of a column and a row on a worksheet called?

JF6 STHHE JBIC TN G338 IF6 SR (A6 Bt Ie7 =T ?

Question 48

A series of ------------ makes a byte

------------ I3 G376 1Ty a6 126 (o FER
Question 49

Category axis is

Question 50

This has the ability to self replicate:
I F-AfOH (MSAF F ol TCNE;

Question 51

Ordinal data are:
Ordinal ©J X'1:

Question 52



Time series data are:

Time ST (G061 79

Question 53

Which of the following is not a component of time series plot?

Time SIATOE 2ATHT W™ N N6 (FN06?

Question 54

What do you mean by Panel data?
TN (GBI IET0© B (JRA?

Question 55

Census is conducted after how many years?
Census 99 IRJ AT A7 FfFpIfeT® TT?

Question 56

What is NSSO?
NSSO Ht?

Question 57

A project would normally be undertaken if its net present value is:
ATHTLVS (PS8 ARCH Net Presesnt Value X'<T:

Question 58

RAM stands for:
RAM NI

Question 59

Which of the following is not an essential component to perform mail merge operation?

fNTEA (PTG (T S AN ST Gy TGN GATATN T2

Question 60

Autocorrect was designed to replace ---------- words

UD€ (G E 3 [o— * el AN Gy FOOTEN 1 AR



